THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION -,- . LOC DIST RE\/|S|ONS
ALL RIGHTS RESERVED.
© COPYRIGHT — BY TYCO ELECTRONICS CORPORATION. G P OO P LTR DESCRIPTION DATE DWN APVD
O | RELEASED PER EC 0S13-0207-05 29JuN0s | SW | JG

#4—40 HEX NUT
2 PLC
(T | #4 LOCK WASHER
@/ .
I
T #4 FLAT WASHER
SLIDE LATCH :D/ 2 PLC
\ |

@Lu ——————————————————————————————— ”*j] 135

T | ]

— #4—40 SLIDE LATCH SCREW
415£.015 — 2 PLC
==

, ———

JI !
| l |
e |
L - - - - - - - - - - - - H—.490 MAX
N\ |
| —
1| !
- (2.913)
T . PARTS PACKAGED UNASSEMBLED.
2. PARTS PACKAGED AS A UNIT KIT.
3. THIS KIT CAN BE USED WITH CABLE CLAMP BODIES THAT DO
NOT EXTEND BEYOND THE FRONT FLANGE OF THE 5745407 — 1
CONNECTOR OR ON CONNECTORS WITHOUT CABLE CLAMPS.
PART NO
A ZINC PLATED .000200-.000400 THICK, — o
THIS DRAWING IS A CONTROLLED DOCUMENT. S WAITMAN [ 1) Tyco Electronics Corporation
YELLOW CHROMATE COATING. R~ 250005 ——— Horrisburg, Po 171053608
PIMENSIONS: OTHERWISE SPECIFIED: | APVD 250UN05 | NANE
INCHES e 4 M WALMSLEY KIT, SLIDE LATCH, SIZE 4,
1PC  x - _ 37 POSITION, AMPLIMITE
E 2 PLC + -
@ 3 PLC + .005 APPLICATION SPEC -
XNZEES + _:|: _ o SIZE CAGE CODE | DRAWING NO RESTRICTED TO
QALT;ERII_I;I’_I'CH: STAINLESS STEEL e A e — AQ 00779 @:5745407 B
HARDWARE: STEEL HARDWARE: CUSTOMER DRAWING SCALE 41 SHEET 1 OF 1 REV 0

AMP 1471-9 REV 31MAR2000

w |5745407



